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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

How much money is 1 
quarter, 1 dime, 3 nickels, 
and 1 penny?

Yummy Donuts gave three 
dozen chocolate donuts 
and six dozen jelly donuts 
to the school.  How many 
donuts did they give?

What is the area of a 
rectangle with sides 3 cm 
and 9 cm?

How many centimeters in 
790.9 meters?

A rectangle is 57 cm on 
one side and 5 cm on 
another side.  What is the 
perimeter?

It was 75 degrees outside.  
What would the 
temperature be if it got 16 
degrees colder?

36,  40,  44,  ,   52,  

56,  60,  64,  68,  72

How many meters are 
there in 34 kilometers?

Circle the three numbers 
whose product
equals 210.

    3       5       6

    9       7       4

11  ÷ 1
8

The diameter of a circle is 
1,102 cm.  What is the radius 
of this circle?

20,  25,  30,  35,  

,   45,  50
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X 12 11

x x x 12 x

96
x x 11

x x

48
x 12 x x x 11

x x x 12 x

36
x x 11

10
30

10 x 10 x

120
10 x 12 10 x 10 x 10 x 11

9
9 x 9 x

108
9 x 12

27
9 x 9 x 9 x 11

10
10 x 10 x

120
10 x 12

30
10 x

120
10 x

110
10 x 11

7
7 x

56
7 x 7 x 12 7 x 7 x 7 x 11

x x x 12 x

36
x x 11

Fill in the missing letters.  Write io or oe.

her s tomat s vacat n stud

creat n p t f reduct n

word root se can mean apart secret, sequester
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Puzzle:

3 3 37

51

3 3 36

44

38

40 50 35 41 40 +
The sum for each column

and row is given.
= = =

=

Work Area:

3 3 37

51

3 3 36

44

38

40 50 35 41 40 +

What kind of angle is this?

Sketch 2 lines AB  and WX  that are 
perpendicular.

Round 19,709 to the nearest 
thousand.

The perimeter of a 
rectangle is 24 cm.  The 
longer side is 9 cm.  How 
long is the shorter side?

11 + 18 ÷ 2

7 kg = g 6 ÷ 2 =  7 x 9 = 
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According to the polar 
bear census taken in 
the Alaskan Native 
Wildlife Refuge, there 
were 35 polar bears 
born last month. Of that 
number, 21 were female 
and the rest were male. 
What is the ratio of 
females to males? 
(Express your answer as 
a fraction in lowest 
terms.)

The Midtown Thrift Shop 
had total sales of $419.05.
Of that amount, $255.38 
was for clothing. How 
much of the total sales 
was not for clothing?

Alex bought a new car. 
He found out that 
insurance on the car 
would cost him $248.24 
for a year. If he wants 
to add collision 
insurance, it will cost an 
extra $9.71 per month. 
What will the yearly cost 
for Alex's car be, if he 
adds collision insurance?

What Words?  Your Words!
Fill in the boxes with letters to make words.  Each box is worth points.  Earn points by filling in as many boxes 
as you can.  Sum up the points you earn for each word.

Make a Word Sum
1

A
2

W A
4

R
6

D
10 16

13

E
1 2 4 6 10 16 22

J U
1 2 4 6 10 16

M A
1 2 4 6 10 16

Make a Word Sum

M I
1 2 4 6 12 18

O M
1 2 4 6 10 16

1

O
2 4 6 8 14

T O
1 2 4 6 12 18
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0 6 5 0 4 = = x 6 9 6 7 5 3 6 0
÷ 1 = 0

Use the pieces above to help you fill in the runaway math puzzle.

Holly rolls two dice.  She adds the 
numbers on the two dice.  What is 
the chance of this sum being five?

3 6 6
+ 2 2 8

3 x 8 = 7 5
- 2 7

6 ÷ 1 1 = 0
x x
7 2
= ÷ 4 x 0 =

4 2 ÷ 0
2 x 7 1 4

7 9 3 6
8 1 = 8 3 ÷ 4 = x

8 3 x 5
= 3 ÷ = 9 2 =

=
x 9 = 5 4

8
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The vowels are missing in the word search.
Fill in the missing vowels and circle the words.

D D M N D

T M R B L A S S

C T B P C

V N S S N

D T S D L E S R P

S L N T

L D N C T Y D

S Y D E D

R N C S R

D S P R N M

REVISION DESPAIR PARTY
ABSENCE ISLAND BUNDLE
SENSATION MEND MOOSE
ESCAPADE ATTITUDE DECADE

28 ÷ 7 = 

1 km = 1,000 m

21 km = m

Can 952 be evenly divided by 6? Circle:
952 is evenly divisible by 6
952 is NOT evenly divisible by 6

2 3
+ 2 4

5 5 5
- 1 1 8

4 x 2 =  

Circle the greatest number:
510,348,796 9,871
14,076,385,292 6,912,470,583

word root urb can mean city urbanite, urban
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= 6 9 2 8 1 4 6 1 0 ÷ 5 = 2 0 = 1
4 8 x

Use the pieces above to help you fill in the runaway math puzzle.

You have four digits to use in 
an addition problem: 3, 8, 8,  
and 9.  Make up a problem 
where you have two 2-digit 
numbers. What is the largest 
sum you can make?

The boys in your class each 
were given a ticket with a 
number on it.  The numbers 
given out were: 24, 5, 27, 18, 
20, 17, 22, 8,  and 1.  One ticket 
will be picked from a hat.  
What are the chances that 
the winning ticket number  is 
divisible by 3?

91,362 - 21,829 =  

Circle the digit in the tenths place.

53.563

5

9 x 4 3

÷

x 3 = 2 7 4

= x

1 8 ÷ 9 = 4

=

1 1 ÷ = 1

8 ÷ 2 = 0 4

÷

2 3 1 7

3 x 0 0 ÷

4 5 ÷ 9 = 5 4

= 0 =

6 5 = 3 0
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Destiny, Nathan, Tyler, and Amber listed how much they weigh on a piece of paper (70 kg, 
66 kg, 80 kg, and 86 kg)

Figure out how much each person weighs.
(Hint:  The gravity factor is 1 on Earth, 0.041 on , 0.907 on Venus, 2.34 on Jupiter, 0.284 on 
Mercury, 0.38 on Mars, 0.795 on Uranus, 0.925 on Saturn, and 1.125 on Neptune).

1. Amber would weigh 163.8 kg on the fifth planet from the sun.

2. On Saturn, Destiny would weigh 6.5 fewer kilograms.

3. Tyler and Nathan would weigh 164.3 kg altogether on Neptune.

Destiny weighs  kg.

Nathan weighs  kg.

Tyler weighs  kg.

Amber weighs  kg.

Anna rolls two dice.  What is 
the chance of her rolling a 1 
on one die and a 2 on the 
other die?

How many centimeters are in 90 millimeters?

 centimeters

12 x 12 =  

For 184,795,957,035,329, write 
the digit that is in the ten 
thousands place. 40 ÷ 10 =  

Circle the addition property 
for 30 + 165 = 165 + 30.

associative property
commutative property

Which is the better buy?  Two 
bags of candy for $18 or nine 
bags of candy for $54? 18 ÷ 2 =  

word root tox can mean poison nontoxic, toxemia
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Sketch 2 lines LM  and TU  that are 
intersecting.

What kind of angle is this?

Y
Z

G H

T

V

C

D

RN

JW

Name 3 angles.
 
Name 2 pairs of intersecting lines.

J K

S

T

W

X

VL

Name 2 parallel lines (or write none).
 
Name 2 perpendicular lines (or write none).
 

Give another name for angle LVT.

What kind of angle has 

a measure of between 

0o  and 90o?

An angle measures 46o.

What would you call this 

angle?

Sketch an obtuse angle 
named ABC.
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7 + 2 6 x 3 = 1 8 8 7 7 = 0 6 8
0 6 5 2

Use the pieces above to help you fill in the runaway math puzzle.

What is the remainder of 
24 divided by 7?

What is the remainder of 
99 divided by 16?

9 x 64 ÷ 8 - 55 ÷ 11 = 

3
5

 x 2
5

What is the greatest 
common factor of the 
numbers 42 and 112?

0.8  5 = 

0 + = 7

1 x 0

6 0 = 6 + 4 1 x

+ x

8 = 4 =

+ 6 = 1 3

3 4 1

= 8 x 2 = 1

3 1 4

7 + 1 = -

3 0 ÷ 2 =

= = ÷

4

+ 2 + 2 = 6

8 0
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
61.3

is the sum
3

tenths

6

tenths

4

tenths

6

tens

31.4
is the sum

5

tenths

3

tenths

3

tens

31.4
is the sum

6

tenths

3

tenths

3

tens

Example:
0.3 + 0.6 + 0.4 + 60 = 61.3

Example:
0.5 + 0.6 + 0.3 + 30 = 31.4

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 4 tens, 3 tens,  or 6 tens.

The other three numbers have to all be DIFFERENT and must be from these: 3 tenths, 6 tenths, 4 

tenths,  or 5 tenths.

31.36

tenths

3

tens

3

tenths

4

tenths

31.3 4

tenths

3

tenths

41.2
tens

3

tenths

tenths

tenths

tenths

31.23

tenths tenths

61.4 6

tens

3

tenths

tenths

4

tenths

tens

5

tenths
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 9 tens, 4 tens,  or 6 tens.

The other three numbers have to all be DIFFERENT and must be from these: 2 tenths, 8 tenths, 6 

tenths,  or 7 tenths.

41.74

tens

7

tenths

2

tenths

8

tenths

91.5
tens

tenths

7

tenths

8

tenths

41.7 4

tens

7

tenths

61.7
tenths tenths

tens

91.5 9

tens

92.1
tenths

tenths

61.7
tens

61.6
tenths tenths

41.7
tenths

tens

42.1
tens

41.5

tenths

91.5
tenths

tens

41.7
tenths

tenths

tenths

tenths

50 ÷ 10 =  3 x 2 =  7 x 4 = 
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Each column must contain
different numbers.

3 1 2

2 3 1

1 2 3

Each row must contain
different numbers.

2 3 1

1 2 3

3 1 2

Each connected group must
contain different numbers.

3 1 2

2 3 1

1 2 3

1

2 1

Use the numbers 1 through 3.

5 1 2

1 3

3 1 2 5

3 1
Use the numbers 1 through 5.

4 2 1

4 2

3 4

1 4

5 3 4 6

1 5 3
Use the numbers 1 through 6.

3 1 2 4

3 2

4 5

3

Use the numbers 1 through 5.
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Sudoku Sums of 17
Each row, column, and box must have the numbers 1 through 9.
Hint: Look for sudoku sums.  The sum of the two boxes inside of the 
dashed lines is 17.

Here is an example of a sudoku sum of 17: 9 8

8 2 1 3

2 7 5 4

8

6 2 3 4

8 5 9

1

4 5 1 2 3 7 9

4 9 6 5

3 7

Circle the smallest number:
302,819,476,516

40,765
1,382,928

39,742,805

85,231 + 67,881 =  
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Each row, column, and box must have the numbers 
1 through 6.  The first box is done.

4 2 5

3 6 1

5 4 6

4

1

1 2 6

Each row, column, and box must have 6 different pictures.
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=
True False

<
True False

=
True False

=
True False

=
True False

=
True False

Did you find that two are true?  If not, look again!
You should only mark TRUE if you are absolutely sure it is correct!

Change 1
4

 to a 

decimal.

Change 1
2

 to a 

decimal. 3 1 . 8
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Greater and Less Than Number Kissing
Start at a green number and draw a line to any red number that is less than the green number.

Draw a line that connects one number to one other number to kiss.  Draw your lines over the trace lines.  
No lines may cross.  Once you draw a line to a number, that number cannot be used again.

One complete line has already been drawn for you.  

8

1

9

7

3

2

14

13

17

16

20

4

19

5

18

12

11

0

15 6

24

10






